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A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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1.  “The life-world, for us who wakingly

live in it, is always already there,

existing in advance for us, the

ground of all praxis whether

theoretical or extratheoretical.”

(A) Heidegger

(B) Merleau Ponty

(C) Sartre

(D) Husserl

2. Habermas characterises the social

sciences as :

(A) non-hermeneutic

(B) hermeneutic

(C) double hermeneutic

(D) quasi hermeneutic

1. ^^thou^&fo'o] T;ke/ks vki.k ltxrsus txr

vlrks] gs vkiY;klkBh vk/khiklwup rsFks vlrs]

vkiY;klkBh vkxk≈ vfLrRokr vlrs] rkfRod

vFkok u&rkfŸod v'kk loZ œrhapk rs vkËkkj

vlrs-** gs er ;kauh ekaMys-

(A) gk;Msxj

(B) esyksZ iksUrh

(C) lk=Z

(D) gqlsyZ

2. gscjeklus lkekftd 'kkL=ka=h fo'ks"krk v'kh

lkafxryh vkgs %

(A) u vFkZfooj.k'kkL=h;

(B) vFkZfooj.k'kkL=h;

(C) nqIiVhus vFkZfooj.k'kkL=h;

(D) va'kr% vFkZfooj.k'kkL=h;

PHILOSOPHY
Paper III

n'kZu'kkL=
iz'uif=dk III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This Paper contains Seventy Five (75) multiple choice questions. Each

question carries Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukyk nksu (2) xq.k
vkgsr- loZ iz'u lksMok-
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3. Merleau-Ponty upholds that human

subjectivity is paradoxical in being

both :

(A) Constituted and constituting

(B) Physical and mental

(C) Intellectual and intuitive

(D) Spatial and temporal

4. The thesis of the indeterminacy of

translation was upheld by :

(A) Russell

(B) Quine

(C) Searle

(D) Dummett

5. According to Austin “I apologise”

is :

(A) Descriptive Act

(B) Emotive Act

(C) Performative Act

(D) Prescriptive Act

3. esyksZ&iksUrhP;k ers ekuoh O;fDrxrrk gh

iq<hyizek.k s n qg sjh Lo:ikph vlY;kus

fojksËkkHkklkRed vlrs %

(A) ?kMysyh vkf.k ?kMo.kkjh

(B) 'kkjhfjd vkf.k ekufld

(C) ckSfºd vkf.k var%izKkRed

(D) vodk'kkRed vkf.k dkykRed

4. ^^vuqoknkph vfuf'prrk** gk flºkar ;kauh

ekaMyk %

(A) jlsy

(B) DokWbZu

(C) lyZ

(D) MesV

5. vkWLVhuP;k erkuqlkj ^^eh {kek ekxrks** gs

vkgs %

(A) o.kZukRed œrh

(B) Hkkofud œrh

(C) fÿ;kRed œrh

(D) vkns'kij œrh
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6. For Davidson, reasons and actions

are related through :

(A) Events

(B) Motives

(C) Causes

(D) Intensions

7. Which one of the following is not

incomplete symbol according to

Russell ?

(A) Descriptions

(B) Ordinary propernames

(C) Logical propernames

(D) Logical fictions

6. MsfoMlu izek.ks cqºh vkf.k œrh ;k}kjs lacafËkr

gksrs %

(A) ?kVUkk

(B) izsj.kk

(C) dkj.k

(D) gsrq

7. jlsyP;k ers [kkyhyiSdh dks.krs viw.kZ ladsr

ukgh \

(A) o.kZus

(B) O;kogkfjd fo'ks"kuke

(C) rkfdZdh; fo'ks"kuke

(D) rkfdZdh; dfYirs
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8. According to Strawson, the meaning

of a word is :

(A) The set of things or the single

thing it may correctly be used

to refer to

(B) The images which imerge in our

mind while uttering the word

(C) Universal

(D) The set of rules, habits,

conventions for its use in

referring

9. The view that experiences are

characterized by their subjective

givenness was upheld by :

(A) Husserl

(B) Heidegger

(C) Schultz

(D) Merleau-Ponty

8. LV™kWluP;k ers] 'kCnkpk vFkZ Eg.kts %

(A) T;kpk vpwd funsZ'k dj.;klkBh ;kpk

mi;ksx dj.;kr ;srks vlk oLrqapk lap

fdaok oLrw

(B) 'kCnkpk mPpkj djrkauk vkiY;k eukr

fuekZ.k gks.kkjh izfrek

(C) lkekU;s

(D) funZs'kukps dk;Z gks.;kekxhy fu;e] lo;h

vkf.k izFkk

9. ;kaP;k ers vuqHko gs R;kaP;k O;fDrfu"B nŸkRokus

fo'ksf"kr vlrkr %

(A) gqlsyZ

(B) gk;Msxj

(C) 'kqYV>

(D) esyksZ&iksUrh
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10. Match the following and select the

correct answer from the codes given

below :

(1) G.W.F. (i) The Idea of

Hegel Phenomenology

(2) Edmund (ii) The Basic

Husserl Problems of

Phenomenology

(3) Martin (iii) The Pheno-

Heidegger menology of

Perception

(4) Merleu- (iv) The Phenomeno-

Ponty logy of Spirit

Codes :

(1) (2) (3) (4)

(A) (iv) (iii) (ii) (i)

(B) (iv) (i) (ii) (iii)

(C) (ii) (i) (iv) (iii)

(D) (i) (iii) (ii) (iv)

10. tk sMÓk t qˇok vkf.k [kkyh fnysY;k

ladsrkadkaeËkwu ;ksX; i;kZ; fuoMk %

(1) th-MCY;w-,Q- (i) n vk;fM;k vkWQ

gsxsy QhukWehukWykWth

(2) ,MeaM gqlsyZ (ii) n csfld

izkWCysEl vkWQ

QhukWehukWykWth

(3) ekfVZu gk;Msxj (iii)  n QhukWehukWykWth

vkWQ ijlsI'ku

(4) esyksZ&iksUrh (iv)  n QhukWehukWykWth

vkWQ fLifjV

ladsrkad %

(1) (2) (3) (4)

(A) (iv) (iii) (ii) (i)

(B) (iv) (i) (ii) (iii)

(C) (ii) (i) (iv) (iii)

(D) (i) (iii) (ii) (iv)
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11. According to Buddhism, the

Brahmavihara called maitri is to be

practised in relation to :

(A) Friends, foes and neutral beings

(B) Friends, but not in relation to

foes and neutral beings

(C) Friends and neutral beings, but

not in relation to foes

(D) Foes only, not friends or neutral

beings

12. Karmayoga of the Gita means

performing :

(A) all actions with Yoga meditation

(B) only actions prescribed by

Vedas

(C) actions without desire towards

fruit

(D) actions with devotion to

God

11. ckSºerkuqlkj eS=h gk cz„fogkj ;kaP;k lacaËkkr

vkpj.kkr vk.kko;kpk vlrks %

(A) fe=] 'k=w vkf.k rVLFk O;Drh

(B) fe=kaP;k laca/kkr] i.k 'k=w o rVLFk

O;DrhaP;k laca/kkr uOgs

(C) fe= vkf.k rVLFk O;DrhaP;k laca/kkr] i.k

'k=waP;k laca/kkr uOgs

(D) QDr 'k=waP;k laca/kkr

12. xhrsrhy deZ;ksxkpk vFkZ vkgs %

(A) ;kSfxd /;kuklg loZ deZs dj.ks

(B) QDr osnfufgr desZ dj.ks

(C) QysPNkfojfgr desZ dj.ks

(D) bZ'ojHkDrhus desZ dj.ks
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13. According to Trivarga theory of

Purusarthas, the following

Purusarthas should be regulated by

the following one :

(A) Dharma and Artha by Kama

(B) Artha and Kama by Dharma

(C) Dharma and Kama by Artha

(D) Dharma, Artha and Kama by

Moksa

14. “...any standard of living which

either through excess or defect

hinders the service and

contemplation of God is bad.” Who

upheld this ?

(A) Aristotle

(B) Plato

(C) Parmenides

(D) Epictetus

13. iq#"kkFkZfo"k;d f=oxZflºkarkuqlkj [kkyhy

iq#"kkFkk±ps fu;a=.k [kkyhy iq#"kkFkkZ}kjs dsys

xsys ikfgts %

(A) /keZ vkf.k vFkZ ;kaps] dkek}kjs

(B) vFkZZ vkf.k dke ;kaps] /kekZ}kjs

(C) /keZ vkf.k dke ;kaps] vFkkZ}kjs

(D) /keZ] vFkZ vkf.k dke ;kaps] eks{kk}kjs

14. ^^tks dks.krkgh tx.;kpk ekunaM R;krhy

vfrjsdkeqˇs fdaok U;wurseqˇs bZ'ojlsosr o

bZ'ojfparukr vMFkˇk vk.krks rks okbZV vlrks**

gs er dks.kh ekaMys \

(A) vWfjLVkWVy

(B) IysVks

(C) ikeZukbfMl

(D) ,fiDVsVl
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15. Who upholds the entitlement

approach to justice ?

(A) Rawls

(B) Dworkin

(C) Amartya Sen

(D) Nozick

16. Who argues against the view that

freedom of speech should be

curtailed only if it harms others ?

(A) Plato

(B) Marx

(C) Mill

(D) Nietzsche

17. For Aristotle, eudaimonism is :

(A) a state in accordance with

virtue and wisdom

(B) an activity in accordance with

virtue and wisdom

(C) a property in accordance with

virtue and wisdom

(D) a tool in accordance with virtue

and wisdom

15. U;k;fo"k;d vf/kdkfjRo&n`f"Vdksukpk dks.kh

iqjLdkj dsyk \

(A) jkWYl

(B) M~okWjfdu

(C) veR;Z lsu

(D) ukWf>d

16. ^^brjkauk btk iksgkspor vlys rjp mPpkj

Lokra´; e;kZfnr dsys ikfgts** ;k erkP;k

fojksËkkr dks.kh ;qfDrokn dsyk \

(A) IysVks

(B) ekDlZ

(C) fey

(D) uhR'ks

17. vWfjLVkWVyP;k ers] ;qMkseksfu>e Eg.kts %

(A) ln~xq.k vkf.k 'kgk.ki.k ;kaP;ka'kh vuq:i

voLFkk

(B) ln~xq.k vkf.k 'kgk.ki.k ;kaP;ka'kh vuq:i

œrh

(C) ln~xq.k vkf.k 'kgk.ki.k ;kaP;ka'kh vuq:i

xq.k/keZ

(D) ln~xq.k vkf.k 'kgk.ki.k ;kaP;ka'kh vuq:i

midj.k
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18. According to utilitarians the right

act is :

(A) The act that produces the

greater balance of pleasure over

suffering

(B) Whatever feels good

(C) That which is known by

intuition

(D) any act that lessen sorrow and

suffering

19. “Nothing can possibly be conceived

in the world, or even out of it, which

can be called good without

qualification, except a good will”, this

view is held by :

(A) Hume

(B) Kant

(C) Bradley

(D) Mill

18. mi;qDrrkok|kauqlkj] ;ksX; œrh v'kh vlrs %

(A) th œrh nq%[kkoj lq[kkps vf/kdre

larqyu izLrqr djrs

(B) ts dkgh pkaxys okVrs rs

(C) vls rs ts var%izKsuh Kkr gksrs

(D) v'kh dks.krhgh œrh th nq%[k vkf.k Dys'k

deh djrs

19. ^^;k txkr fdaok txkP;k iyhdMs T;kyk

fu:ikf/kdi.ks lr~ Eg.krk ;sbZy vls lr~

ladYikf'kok; nqljs dkgh ukgh-** gs ;kaps er

vkgs %

(A) ·we

(B) dkaV

(C) czWMys

(D) fey
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20. iq<hy flºrsrhy pqdhph ik;jh vkš [kk %

(1) M ~ C⊃

(2)

~ C ~ A

(3)

D ~ A

   /  ∴ M ⊃ D

(4) M ⊃ ~ A    1, 2, yf{krrk ‹k̀a[kyk (H.S.)

(5) ~ A ∨ D 3, ÿeifjorZu (Com.)

(6) ~ A ⊃ D  5, O;atu O;k[;k (Impl.)

(7) M ⊃ D   4, 6, yf{krrk ‹kà[kyk (H.S.)

(A) ik;jh 4

(B) ik;jh 5

(C) ik;jh 6

(D) ik;jh 7

21. tSu /kek±rxZr ^pkrq;kZe /keZ* ;kauh fodflr

dsyk %

(A) Ω"kHknso

(B) o/kZeku egkohj

(C) vkfnukFk

(D) ik'oZukFk

20. Which step is wrong in the following

proof ?

(1)

M ~ C

(2)

~ C ~ A

(3)

D ~ A

  /  ∴ M ⊃ D

(4) M ⊃ ~ A  1, 2, H.S.

(5) ~ A ∨ D  3, Com.

(6) ~ A ⊃ D  5, Impl.

(7) M ⊃ D  4, 6, H.S.

(A) Step 4

(B) Step 5

(C) Step 6

(D) Step 7

21. The Caturyama dharma in Jainism

was developed by :

(A) Rsabhadeva

(B) Vardhamana Mahavira

(C) Adinatha

(D) Parsvanatha
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22. These are considered to be the

foundation of Hinduism :

(A) The Puranas

(B) Ramayana and Mahabharata

(C) The Vedas

(D) The Smrti Grantha

23. The total number of gunas in

‘Sikhism’ is :

(A) 12

(B) 5

(C) 9

(D) 10

24. Match the following and select the

correct answer from the codes given

below :

   Name of Spiritual

   Religion Goal

(1) Christianity (i) Kaivalya

(2) Islam (ii) Jannat

(3) Jainism (iii) Nirvan

(4) Buddhism (iv) Heaven

Codes :

(1) (2) (3) (4)

(A) (ii) (iv) (iii) (i)

(B) (iv) (ii) (i) (iii)

(C) (iii) (i) (ii) (iv)

(D) (i) (ii) (iii) (iv)

22.
---------------------;kauk fganw/kekZps vkf/k"Bku ekuys

tkrs-

(A) iqjk.ks

(B) jkek;.k vkf.k egkHkkjr

(C) osn

(D) Le`frxzaFk

23. 'kh[k /kekZrhy xq.kkaph ,dw.k la[;k gh
vkgs %

(A) 12

(B) 5

(C) 9

(D) 10

24. tk sMÓk t qˇok vkf.k [kkyh fnysY;k
ladsrkadkaeËkwu ;ksX; i;kZ; fuoMk %

  /kekZps uko    vk/;kfRed /;s;

(1) f[kz‹pu /keZ (i) dSoY;

(2) bLyke /keZ (ii)  tUur

(3) tSu /keZ (iii) fuokZ.k

(4) ckSº /keZ (iv) gsou

ladsrkad %

(1) (2) (3) (4)

(A) (ii) (iv) (iii) (i)

(B) (iv) (ii) (i) (iii)

(C) (iii) (i) (ii) (iv)

(D) (i) (ii) (iii) (iv)
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25. According to Christianity, evil

entered into our world as a result

of :

(A) Satan’s fall

(B) God’s desire

(C) Human emotion

(D) Disorder in creation of the world

26. Bentham regarded Utilitarian ethics

as an important mean of :

(A) Improving reason

(B) Improving self

(C) Upholding social tradition and

custom

(D) Social reform

27. Which kind of ethical theory is

utilitarian ?

(A) Absolute

(B) Deontological

(C) Theological

(D) Teleological

25. f[kzçu /kekZuqlkj] ;kpk ifj.kke Eg.kwu nqfjrkus

vkiY;k txkr izos'k dsyk %

(A) lSrkukps v/k%iru

(B) bZ'ojh bPNk

(C) ekuoh Hkkouk

(D) txkP;k fufeZrhe/khy foœrh

26. csaFke gk mi;qDrrkoknh uhfr'kkL=kl ;kps

egRokps lk/ku Eg.kwu letrks %

(A) ckSfºd lq/kkj.kk

(B) Lo&lq/kkj.kk

(C) lkekftd ijaijk vkf.k :<haps leFkZu

(D) lkekftd iqufuZferh

27. mi;qDrrkoknh uhrh'kkL=h; miiŸkh dks.kR;k

izdkjph miiŸkh vkgs %

(A) fujis{k

(B) drZO;oknh

(C) bZ'oj'kkL=h;

(D) iz;kstuoknh
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28. Who upheld the view that the female

is a female by virtue of a certain lack

of qualities ?

(A) Aristotle

(B) Marx

(C) Engels

(D) Mill

29. According to C.L. Stevenson, ethical

argument usually terminates,

when :

(A) disagreement in belief

terminates

(B) disagreement in attitudes

terminates

(C) the whole value-system

collapsed

(D) one perceive the non-natural

quality of the object of

disagreement

28. ^^L=h gh frP;kr dkgh xq.kk apk vHkko

vlY;keq š L=h vlrs-** gk n`f"Vdksu dks.kh

iqjLdkjyk \

(A) vWfjLVkWVy

(B) ekDlZ

(C) ,axYl

(D) fey

29. lh-,y- fLVOgaluP;k erkuqlkj] uSfrd ;qDrhokn

lkekU;i.ks lairkr] tsOgk%

(A) letqrhrhy erHksn lairkr

(B) o`Ÿkharhy erHksn lairkr

(C) laiw.kZ ewY;&O;oLFkk /kjk'kk;h gksrs

(D) erHksnkP;k fo"k;krhy u&uSlxhZd xq.kkps

tsOgk izR;{k gksrs
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30. The law of contradiction is also

known as :

(A) law of identity

(B) law of validity

(C) law of truth

(D) law of non-contradiction

31. Which of the following are known

through description according to

Russell ?

(A) Physical objects and sense

data

(B) Sense data and other

minds

(C) Other minds and metaphysical

objects

(D) Physical objects and other

minds

32. “But though all our knowledge

begins with experience, it does not

follow that it all arises out of

experience.” Who upheld this ?

(A) Berkeley

(B) Hume

(C) Kant

(D) Hegel

30. O;k?kkr fu;e-----------------------Eg.kwugh vkš [kyk

tkrks-

(A) rknkRE;kpk fu;e

(B) ;qDrrspk fu;e

(C) lR;rspk fu;e

(D) v&O;k?kkrkpk fu;e

31. jlsy ;kaP;k ers iq<hyiSdh d'kkps Kku o.kZukrwu

gksr vlrs \

(A) HkkSfrd ÊO; vkf.k bafÊ;nŸk

(B) bafÊ;nŸk vkf.k vU; eus

(C) vU; eus vkf.k lŸkk'kkL=h; fo"k;

(D) HkkSfrdÊO; vkf.k vU; eus

32. ^^tjh vkiY;k loZ Kkukph lq#okr vuqHkokrwu

gksr vlyh rjh ;krwu gs fu"iUu gksr ukgh

dh] loZ Kkukpk mxe vuqHkokrwu gksrks-** gs

er dks.kh ekaMys \

(A) odZys

(B) ·we

(C) dkUV

(D) gsxsy
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33. According to Nyaya, a person

experiences his or her own

happiness by the following types of

perception :

(A) Manasapratyaksa

(B) Svasamvedanapratyaksa

(C) Alaukikapratyaksa

(D) Aindriyapratyaksa

34. One’s own mental state is perceived

by the following type of perception

according to Buddhists :

(A) Indriyapratyaksa

(B) Svasamvedanapratyaksa

(C) Manovijnanapratyaksa

(D) Yogipratyaksa

35. According to Advaita-Vedanta the

external objects that we perceive

belong to the following realm of

existence :

(A) Paramarthika Satta

(B) Vyavaharika Satta

(C) Pratibhasika Satta

(D) Tuccha

33. U;k;n'kZukuqlkj O;Drhyk R;kyk fdaok fryk

gks.kkÚ;k lkS[;kph tk.kho [kkyhy izdkjP;k

izR;{kkus gksrs %

(A) ekulizR;{k

(B) LolaosnuizR;{k

(C) vykSfddizR;{k

(D) ,safÊ;izR;{k

34. ckSºkaP;k ers Lor%P;k ekufld voLFksps Kku

[kkyhy izdkjP;k izR;{kKkukus gksrs %

(A) bfUÊ;izR;{k

(B) LolaosnuizR;{k

(C) euksfoKkuizR;{k

(D) ;ksfxizR;{k

35. v}Srosnkarkuqlkj vki.k ts ck·fo"k; ikgrks

R;kaP;k vfLrRokpk Lrj vlrks %

(A) ikjekfFkZd lŸkk

(B) O;kogkfjd lŸkk

(C) izkfrHkkfld lŸkk

(D) rqPN
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36. The following cognition is called

‘anumanapramana’ by Nyaya :

(A) Perception of Hetu

(B) Knowledge of Vyapti

(C) Recollection of Vyapti

(D) Knowledge of Sadhya

37. The following number of hetvabhasas

were accepted by Buddhists and

Naiyayikas respectively :

(A) 5 and 3

(B) 3 and 5

(C) 5 and 2

(D) 2 and 6

38. The Buddhist notion of pancasila

includes the following :

(A) Satya, Ahimsa, Asteya,

Brahmacarya and Aparigraha

(B) Yama, Niyama, Asana,

Pranayama and Pratyahara

(C) Sauca, Santosa, Tapas,

svadhyaya and Isvarpranidhana

(D) Satya, Ahimsa, Asteya,

Brahmacarya and suramaireya

pramada sthana virati

36. U;k;n'kZukus [kkyhy tkf.kosyk ^vuqeku izek.k*

EgVys vkgs %

(A) gsrqizR;{k

(B) O;kfIrKku

(C) O;kfIrLej.k

(D) lk/;Kku

37. ckSºkauh vkf.k uS;kf;dkauh LohdkjysY;k gsRok

Hkklkaph la[;k vuqÿes v'kh gksrh %

(A) 5 vkf.k 3

(B) 3 vkf.k 5

(C) 5 vkf.k 2

(D) 2 vkf.k 6

38. ckSºkaP;k iap'khykP;k ladYiuse/ks ;kpk

varHkkZo gksrks %

(A) lR;] vfgalk] vLrs;] cz„p;Z vkf.k

vifjxzg

(B) ;e] fu;e] vklu] izk.kk;ke vkf.k

izR;kgkj

(C) 'kkSp] larks"k] ril~] Lok/;k; vkf.k

bZ'ojizf.k/kku

(D) lR;] vfgalk] vLrs;] cz„p;Z vkf.k

lqjkeSjs; izekn~LFkku fojfr
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39. The right path to liberation

according to Ramanuja is :

(A) Jnana alone

(B) Karma alone

(C) Karma qualified by Bhakti

(D) Bhakti qualified by jnana and

karma

40. In Nimbarka’s philosophy the

following metaphor is used for

explaining the relation between

Brahman and the world :

(A) Counch-shell and silver

(B) Milk and curd

(C) Soil and earthen pot

(D) Fire and its sparks

41. The criterion of ‘real’ according to

Samkara is :

(A) Empirical verification

(B) Possession of the universal

property called satta

(C) Causal efficacy

(D) Non-sublation

39. jkekuqtkaP;k ers eks{kkdMss us.kkjk ;ksX; ekxZ

Eg.kts %

(A) QDr Kku

(B) QDr deZ

(C) HkfDr&fof'k"V deZ

(D) Kku&deZ&fof'k"V HkDrh

40. fuEckdk±P;k rŸoKkukr cz„ vkf.k txr~

;kaP;krhy laca/k Li"V dj.;klkBh iq<hy ǹ"Vkar

okijyk tkrks %

(A) 'kqDrh vkf.k jtr

(B) nw/k vkf.k ngh

(C) ekrh vkf.k ekrhps HkkaMs

(D) vXuh vkf.k R;kps LQqfYayx

41. 'kadjkpk;k±P;k ers ^lr~* pk fud"k vkgs %¦

(A) vkuqHkfod iMrkˇk

(B) lŸkk&lkekU; /kkj.k dj.ks

(C) vFkZfÿ;kdkfjRo

(D) vckf/krRo
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42. Bheda, according to Madhvacarya,

is :

(A) Phenomenally real

(B) Ultimately real

(C) Ultimately unreal

(D) Illusory

43. According to Gandhi :

(A) Truth is the means and

Ahimsa is the end

(B) Ahimsa is the means and Truth

is the end

(C) Ahimsa and Truth are identical

(D) There is not any relation

between Ahimsa and Truth

44. Out of the two statement forms :

(1) [(p ⊃ q).p] ⊃ q

(2) (p ∨ q). p

(A) both are tautologies

(B) (1) is a tautology and (2) is

contingent

(C) (1) is a contingent and (2) is a

tautology

(D) Both are contingencies

42. e/okpk;k±P;k ers Hksn vlrks %

(A) vuqHkor% lr~

(B) ijekFkZr% lr~

(C) ijekFkZr% vlr~

(D) vkHkkl:i

43. xka/khthaP;kuqlkj %

(A) lR; gs lk/ku vkgs vkf.k vfgalk gs lkË;

vkgs

(B) vfgalk gs lk/ku vkgs vkf.k lR; gs lkË;

vkgs

(C) vfgalk vkf.k lR; vfHkUu vkgs

(D) vfgalk vkf.k lR; ;kr dks.krkgh lacaËk

ukgh

44. iq<hy fo/kkuca/k %

(1) [(p ⊃ q).p] ⊃ q

(2) (p ∨ q). p

(A) nksUgh fo/kkuca/k loZr% lR; vkgsr

(B) (1) loZr% lR; vkgs vkf.k (2)

uSfefŸkdr;k lR;klR; vkgs

(C) (1) uSfefŸkdr;k lR;klR; vkgs vkf.k

(2) loZr% lR; vkgs-

(D) nksUgh fo/kkuca/k uSfefŸkdr;k lR;klR;

vkgsr-
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45. Universals are contrasted with :

(A) Individuals

(B) Particulars

(C) Abstractions

(D) Appearance

46. Who upheld personal identity to be

a fiction ?

(A) Locke

(B) Spinoza

(C) Berkeley

(D) Hume

47. For Kant, causation is :

(A) a synthetic apriori relation

(B) an analytic apriori relation

(C) a synthetic aposteriori relation

(D) an analytic aposteriori relation

45. lkekU;s ;kps'kh fojks/kh vkgsr %

(A) O;Drh

(B) fo'ks"k

(C) vewrZdj.k

(D) vkHkkl

46. O;Drhph vfHkUurk dfYir vlY;kps dks.k

Eg.krks \

(A) ykWd

(B) fLiuks>k

(C) cdZys

(D) ·we

47. dkaVP;k erkuqlkj] dkj.krk vkgs %

(A) la'ys"kd vuqHkoiwoZ laca/k

(B) fo'ys"kd vuqHkoiwoZ laca/k

(C) la'ys"kd vuqHkoksŸkj laca/k

(D) fo'ys"kd vuqHkoksŸkj laca/k
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48. The relation between prama and

pramana according to Nyaya is as

follows :

(A) Prama is a means to pramana

(B) Pramana is a means to prama

(C) Prama is the same as pramana

(D) Prama and paramana are two

aspects of knowledge

49. Prabhakara-mimamsakas accept all

the pramanas accepted by

Bhattamimamsakas except :

(A) Anupalabdhi

(B) Arthapatti

(C) Smrti

(D) Upamana

50. When in illusian one experiences

snake in place of rope, the status of

snake according to Prabhakara

mimamsakas is such that the snake

at that time is :

(A) Recollected

(B) Truly perceived

(C) Perceived in a wrong place

(D) Imaginary

48. izek vkf.k i zek.k ;k aP;krhy lac a/ k

U;k;n'kZukuqlkj vlk vlrks %

(A) izek gs izek.kkps lk/ku vkgs

(B) izek.k gs izesps lk/ku vkgs

(C) izek vkf.k izek.k ;k xks"Vh ,dp

vkgsr

(D) izek vkf.k izek.k gs Kkukps nksu iSyww

vkgsr

49. [kkyhy izek.k oxˇrk izHkkdj&ehekald gs

HkÍehekaldkauh Lohdkjysyh loZ izek.ks

Lohdkjrkr %

(A) vuqiyfC/k

(B) vFkkZifŸk

(C) Lèfr

(D) mieku

50. HkzekP;k oš h tsOgk ,[kk|kyk jTtwP;k tkxh

liZ Hkklrks] rsOgk izkHkkdj ehekaldkaP;k ers

likZpk ntkZ vlk vlrks dh R;koš h liZ %

(A) vkBoyk tkr vlrks

(B) ;FkkFkZi.ks ikfgyk tkr vlrks

(C) pqdhP;k tkxh ikfgyk tkr vlrks

(D) dkYifud vlrks
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51. According to Anvitabhidhanavada :

(A) Sentence meaning has primacy

over word meaning

(B) Word meaning has primary

over sentence meaning

(C) Both word meaning and

sentence meaning are equally

important, but separate

(D) Both word meaning and

sentence meaning are equally

important, but interconnected

52. Akanksa, Yogyata and Sannidhi are

understood in Indian philosophy of

language as :

(A) Conditions of truth of a sentence

(B) Types of relationship among

speakers

(C) Constituents of sentence

meaning

(D) Constitutive conditions of a

meaningful sentence

51. vfUorkfHk/kkuoknkuqlkj %

(A) okD;kFkZ gk 'kCnkFkkZis{kk vxzLFkkuh

vlrks

(B) 'kCnkFkZ gk okD;kFkkZis{kk vxzLFkkuh

vlrks

(C) 'kCnkFkZ o okD;kFkZ nksUgh lkj[ksp egRokps

vlrkr] i.k lqVs lqVs vlrkr-

(D) 'kCnkFkZ o okD;kFkZ nksUgh lkj[ksp egRokps

vlrkr] i.k ijLijlacº vlrkr-

52. Hkkjrh; Hkk"kk rRoKkukr vkdka{kk] ;ksX;rk

vkf.k lafuf/k ;kauk letys tkrs %

(A) okD;kP;k lR;rsP;k vVh

(B) oDR;kae/khy ijLijlaca/kkps izdkj

(C) okD;kFkkZps ?kVd

(D) vFki w.k Z  okD;kP;k Lo:ik/k k;d

vVh
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53. The following statement is true about

the Vaisesika notion of dravyas :

(A) Dravya is of two kinds : nitya

and anitya

(B) All dravyas are nitya

(C) All dravyas are anitya

(D) Every dravya is nitya or anitya

subject to the perspective of the

knower

54. The following darsanas have given

Akasa the status of an independent

positive substance :

(A) Vaisesika and Buddhism

(B) Vaisesika and Sankhya

(C) Sankhya and Jainism

(D) Vaisesika and Jainism

55. This is not true of Maya :

(A) It is Sadasadanirvachaniya

(B) It is Adhyasa

(C) It is Abhavarupa

(D) It is vivarta

56. The following type of padartha

cannot have samavayi-karana

(A) Dravya

(B) Guna

(C) Karma

(D) Samanya

53. oS'ksf"kdkaP;k ÊO; ladYiusckcr iq<hy foËkku

lR; vkgs %

(A) ÊO;s nksu izdkjph vlrkr % fuR; vkf.k

vfuR;

(B) loZ ÊO;s fuR; vlrkr

(C) loZ ÊO;s vfuR; vlrkr

(D) KkR;kP;k ǹf"Vdksukuqlkj izR;sd ÊO; fuR;

vFkok vfuR; vlrs

54. ;k n'kZukauh vkdk'kkl Lora= Hkko:i ÊO;kpk

ntkZ fnysyk vkgs %

(A) oS'ksf"kd vkf.k ckSº

(B) oS'ksf"kd vkf.k lka[;

(C) lka[; vkf.k tSu

(D) oS'ksf"kd vkf.k tSu

55. ek;sP;k ckcrhr gs lR; ukgh %

(A) rh lnln~vfuoZpuh; vkgs

(B) rh v/;kl vkgs

(C) rh vHkko:i vkgs

(D) rh foorZ vkgs

56. iq<hy izdkjP;k inkFkkZl leok;hdkj.k vlw

'kdr ukgh %

(A) ÊO;

(B) xq.k

(C) deZ

(D) lkekU;
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57. Samavaya Samvandha is seen in the

following example :

(A) Pearls and string

(B) Flowers and their heap

(C) Matchsticks and the matchbox

(D) Leaves of a tree and the tree

58. Who linked substance with

permanence through changes ?

(A) Locke

(B) Kant

(C) Berkeley

(D) Hume

59. Match the following and select the

correct answer from the codes given

below :

(1) Leibniz (i) Tabula Rasa

(2) Spinoza (ii) Method of

Doubt

(3) Locke (iii) Windowless

monads

(4) Descartes (iv) Mind and matter

as attributes

Codes :

(1) (2) (3) (4)

(A) (i) (ii) (iii) (iv)

(B) (iii) (iv) (i) (ii)

(C) (ii) (i) (iv) (iii)

(D) (iii) (iv) (i) (ii)

57. ;k mnkgj.kkr leok; laca/k fnlrks %

(A) eksrh vkf.k nksjk

(B) Qqys vkf.k R;kapk <hx

(C) vkxdkMÓk vkf.k dkMsisVh

(D) >kMkph ikus vkf.k >kM

58. ÊO;kpk cnykae/kwu fuR;rs'kh nqok dks.kh

tq̌ oyk \

(A) ykWd

(B) dkaV

(C) cdZys

(D) ·we

59. tksMÓk tqˇok vkf.k fnysY;k ladsrkadke/kwu

;ksX; i;kZ; fuoMk %

(1) yk;fCu> (i) dksjh ikVh

(2) fLiuks>k (ii) la'k;kph iºrh

(3) ykWd (iii) xok{kjfgr fpn.kw

(4) nsdkrZ (iv) fpŸk vkf.k tMrRo

xq.k ;k Lo:ikr

ladsrkad %

(1) (2) (3) (4)

(A) (i) (ii) (iii) (iv)

(B) (iii) (iv) (i) (ii)

(C) (ii) (i) (iv) (iii)

(D) (iii) (iv) (i) (ii)
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60. According to Berkeley, the material

world as an object of perception is

to be :

(A) Represented

(B) Doubted

(C) Rejected

(D) Justified

61. “Truth happens to an Idea.” This

was upheld by :

(A) Bradley

(B) Russell

(C) Tarski

(D) James

62. According to Descartes, knowledge

is to be built on strong :

(A) Belief

(B) Experience

(C) Impression

(D) Foundation

60. cdZysP;k ers izR;{kKkukpk fo"k; Eg.kwu HkkSfrd

tx %

(A) izfrfufgr dsys ikfgts

(B) la'k;kLin ekuys ikfgts

(C) ukdkjys ikfgts

(D) lefFkZr dsys ikfgts

61. ^^dYiusP;k ckcrhr lR; ?kMrs-** gs er

---------------------;kauh ekaMys vkgs-

(A) czWMys

(B) jlsy

(C) VkLdhZ

(D) tsEl

62. nsdkrZP;k ers Kku gs mHkkjys ikfgts

HkDde %

(A) erkoj

(B) vuqHkokoj

(C) Blkaoj

(D) ik;koj
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63. Four varnas and their professions (in

any order) are given in columns 1

and 2. Match the pairs :

Column I Column II

(1) Brahmana (i) Service to

other Varnas

(2) Ksatriya (ii) Warriorship

and protection

(3) Vaisya (iii) Teaching

Vedas and

Priesthood

(4) Sudra (iv) Agriculture and

 Commerce

Codes :

(1) (2) (3) (4)

(A) (iii) (ii) (iv) (i)

(B) (ii) (iii) (iv) (i)

(C) (iii) (iv) (i) (ii)

(D) (i) (ii) (iii) (iv)

64. If a deductive argument is valid and

all its premises are true, then the

argument is :

(A) Rational

(B) Sound

(C) Empirical

(D) Philosophical

63. pkj o.kZ vkf.k R;kaps O;olk; (dks.kR;kgh

ÿekus) [kkyh LraHk 1 o 2 P;k [kkyh fnys

vkgsr- tksMÓk tq̌ ok %

LraHk 1 LraHk 2

(1) czk„.k (i) brj o.kk±ph lsok

(2) {kf=; (ii) ;qºkr Hkkx ?ks.ks vkf.k

laj{k.k

(3) oS'; (iii) osnk/;kiu vkf.k

ikSjksfgR;

(4) 'kwÊ (iv) 'ksrh vkf.k O;kikj

ladsrkad %

(1) (2) (3) (4)

(A) (iii) (ii) (iv) (i)

(B) (ii) (iii) (iv) (i)

(C) (iii) (iv) (i) (ii)

(D) (i) (ii) (iii) (iv)

64. tj uSxefud ;qfDrokn ;qDr vlsy vkf.k R;kph

loZ vk/kkjfo/kkus lR; vlrhy rj rks ;qfDrokn-

----------------------------vlrks-

(A) cqfºfu"B

(B) leqfpr

(C) vuqHkok/kkfjr

(D) rkfŸod
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65. The contrary of ‘E’ proposition is :

(A) ‘I’ proposition

(B) ‘O’ proposition

(C) ‘A’ proposition

(D) Both ‘I’ and ‘O’ propositions

66. An immediate inference is an

inference drawn :

(A) from only one premise

(B) from only two premises

(C) from more than two premises

(D) without any premise

67. Match the following and select the

correct answer from the codes given

below :

Kinds of Criterion of

Propositions Classification

(1) Categorial and (i) quality

conditional

(2) Affirmative and (ii) quantity

negative

(3) Universal and (iii) relation

particular

Codes :

(1) (2) (3)

(A) (i) (iii) (ii)

(B) (ii) (i) (iii)

(C) (iii) (ii) (i)

(D) (iii) (i) (ii)

65. ‘E’ fo/kkukps fojks/kh fo/kku %

(A) ‘I’ fo/kku vlrs

(B) ‘O’ fo/kku vlrs

(C) ‘A’ fo/kku vlrs

(D) ‘I’ vkf.k ‘O’ gh nk s Ugh fo/k ku

vlrkr-

66. vO;ofgr vuqeku Eg.kts T;kr-------------------

fu"d"kZ dk<ysyk vlrks-

(A) QDr ,dk vk/kkjfo/kkukrwu

(B) QDr nksu vk/kkjfo/kkukarwu

(C) nksukis{kk tkLr vk/kkjfo/kkukarwu

(D) vk/kkjfo/kkukaf'kok;

67. tksMÓk tqˇok vkf.k fnysY;k ladsrkadke/kwu

;ksX; i;kZ; fuoMk %

fo/kkukaps oxhZdj.kkpk

 izdkj fud"k

(1) fu:ikf/kd vkf.k (i) xq.k

lksikf/kd

(2) gksdkjkFkhZ vkf.k (ii) ifjek.k

udkjkFkhZ

(3) loZokph vkf.k (iii)  laca/k

fo'ks"kokph

ladsrkad %

(1) (2) (3)

(A) (i) (iii) (ii)

(B) (ii) (i) (iii)

(C) (iii) (ii) (i)

(D) (iii) (i) (ii)
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68. An axiomatic system is complete in

its widest sense when :

(A) all the axioms are self-evident

(B) both ‘p’ and ‘~p’ are not the

theorems of the system

(C) either ‘p’ or ‘~p’ must be the

theorem of that system

(D) every wff is either an axiom or

a theorem of that system

69. In propositional logic, when one

statement is said to be equivalent

to another, it means that these

statements have the same :

(A) Grammatical form

(B) Meaning

(C) Truth values

(D) Connectives

68. chtkuqeku iz.kkyh O;kidre vFkkZus rsOgkp

laiw.kZ vlrs tsOgk %

(A) loZ ewyk/kkj Lo;aflº vlrkr-

(B) R;k iz.kkyhps ‘p’ vkf.k ‘~p’ gs nksUgh

izes;s ulrkr-

(C) R;k iz.kkyhps ‘p’ fdaok ‘~p’ ;kiSdh ,d

izes; vlysp ikfgts

(D) izR;sd lq?kfVrlw= R;k iz.kkyhpk ,drj

ewyk/kkj vlyk ikfgts fdaok izes; vlys

ikfgts

69. fo/kku rdZ'kkL=kr] ,d fo/kku nqlÚ;k foËkkuk'kh

leewY; vkgs vls EgVys tkrs] rsOgk R;kpk

vFkZ ;k nksUgh fo/kkukar leku-----------

(A) O;kdj.kh; vkdkj vlrks

(B) vFkZ vlrks

(C) lR;rk ewY;s vlrkr

(D) rdZdkjds vlrkr
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70. Which of the following is the correct

symbolization of the following

argument ?

“Some internet sites do not provide

information. Something provides

information and knowledge.

Therefore no internet site provides

knowledge.”

(Sx–x is an internet site; Ix–x

Provides information; Kx – x

provides knowledge)

(A)

( x) Sx . ~ Ix

( )( x) Ix . Kx∃

/ ∴  (x) 

(

(B) ( )( x) Sx . ~ Ix∃

( )( x) Ix . Kx∃

 / ∴ (x) Kx ~ Sx

(C) ( )( x) Sx . ~ Ix∃

( )( x) Ix . Kx∃

/ ∴  

(x) Sx . ~ Kx

(D) ( )( x) Sx . ~ Ix∃

( )( x) Ix . Kx∃

/ ∴   

(x) Kx ~ Ix

71. According to Vallabha, out of the

three essential characteristics of

Isvara, viz. sat, cit and ananda, the

following is/are vividly present in

the world :

(A) only sat

(B) only cit

(C) sat and cit only

(D) all of the above

70. iq<hy ;qfDroknkps [kkyh fnysY;k fp�kaduakiSdh

dks.krs cjkscj vkgs \

^^dkgh baVjusV lkbZV~l ekfgrh iqjor ukghr-

dkgh xks"Vh ekfgrh vkf.k Kku iqjorkr- Eg.kwu

,dgh baVjusV lkbZV Kku iqjor ukgh-

(Sx–x gh baVjusV lkbZV vkgs- Ix–x  ekfgrh

iqjors] Kx – x  Kku iqjors-

(A) ( )( x) Sx . ~ Ix∃

( )( x) Ix . Kx∃

/ ∴ (x) 

(

(B) ( )( x) Sx . ~ Ix∃

( )( x) Ix . Kx∃

 / ∴ 

(x) Kx ~ Sx
(C) ( )( x) Sx . ~ Ix∃

( )( x) Ix . Kx∃

/ ∴ 

(x) Sx . ~ Kx

(D) ( )( x) Sx . ~ Ix∃

( )( x) Ix . Kx∃

/ ∴  

(x) Kx ~ Ix

71. oYyHkkpk;k±P;k ers lr~] fpr~ vkf.k vkuan

;k bZ'ojkP;k rhu ewyHkwr /kek±iSdh iq<hy ËkeZ

txkr Li"Vi.ks mifLFkr vlrks@vlrkr %

(A) QDr lr~

(B) QDr fpr~

(C) QDr lr~ vkf.k fpr~

(D) ojhy rhugh
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72. Hkkjr NksM+ks gh xka/khthauh fnysyh gkd] ;k

izdkjP;k lR;kxzgkps mnkgj.k vkgs %

(A) voKk

(B) izR;{k œrh

(C) vlgdkj

(D) miks"k.k

73. (i) lR; bZ'oj vkgs vkf.k (ii) bZ'oj lR; vkgs

;k nksu n`f"VdksukaiSdh xka/khthauh %

(A) nksUgh n`f"Vdksu ,dkp oš h Lohdkjys

(B) (i) gk vk/kh o (ii) gk uarj Lohdkjyk

(C) (ii) gk vk/kh o (i) gk uarj Lohdkjyk

(D) dks.krkp Lohdkjyk ukgh

74. xka/khthaph vkn'kZ jkT;kph dYiuk gh ;kph

dYiuk vkgs %

(A) dsaÊhœr iztklŸkkd

(B) ukxjh iztklŸkkd

(C) mejko iztklŸkkd

(D) xzkeh.k iztklŸkkd

75. xka/khth Eg.kr] ^^eh vLi`';rsl-----------------

P;k fojks/kkrhy t?kU; vijk/k ekurks%

(A) jk"V™

(B) ekuork

(C) lekt

(D) dfu"B tkr

72. Quit India Call given by Gandhi was

an example of this kind of

Satyagraha :

(A) Disobedience

(B) Direct action

(C) Non-co-operation

(D) Fasting

73. From the two views (i) Truth is God

and (ii) God is Truth, Gandhi

held :

(A) Both simultaneously

(B) (i) earlier and (ii) later

(C) (ii) earlier and (i) later

(D) none of the above

74. Gandhi’s idea of the ideal state is

the idea of the :

(A) Centralised Republic

(B) Urban Republic

(C) Elite Republic

(D) Village Republic

75. Gandhi says, “I consider

untouchability to be a heinous crime

against............”.

(A) nation

(B) humanity

(C) society

(D) lower caste
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